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Haiigure nporieHTbI

Nwms:

55 x

14 x

41 x

90 x

31 %

29 x

60 x

% = 16.5

% =14

% =164

% =72

% = 4.8

% =1.5

% =124

% =174

% = 54

% = 45.6

13 %

66 X

[ara:

% =352

% = 46.2

% =24

84 %

100 x

25 x

48 x

40 x

77 X
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% =16.8

% = 90

% =15

% = 14.4

% = 32

% = 30.8

% =264

Orenka:
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Haiigure nponieHThI

Nwms:

55 x30% = 16.5

14 x10% =14

41 x40% = 16.4

90 x 80% = 72

6 x 80% = 4.8

5x30%=1.5

31 x40% =12.4

29 x60% =17.4

60 x 90% = 54

76 x 60% = 45.6

13 x40% = 5.2

66 x 70% = 46.2

4 x60% = 2.4

84 x20% = 16.8

100 x 90% = 90

25 x60% = 15

48 x 30% = 14.4

40 x 80% = 32

77 % 40% = 30.8

66 x 40% = 26.4
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Jlara: Orenka:
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